Terrain Effects Chart (TEC).
Terrain:
Mech movement
Motorized movement
Foot Movement
Combat
Artillery Fire/CAS
Mech modifiers
Notes

Clear
1
1
1
-
-
x2


Secondary road
.5
.5
.5
-
+1 Col
OT


Primary Road
.25
.25
.33
-
+1 Col
OT


Town
1
1
1
-1 Col
-1 Col
-


City
1
1
1
Def x2
-3 Col
x.5


Fortification
+1
+1
+1
-2 Col
-2 Col
x.5


River
P

Eng +5

or pontoons
P

Eng +5

or pontoons
+2

Eng +1

or pontoons
at x.5
-
-
A

Hill
+2
+2
+1
-1 Col
-
x.75
B

Slope

P

at x.5
-
x.5


Woods
2
3
1
-
-1 Col
-


Dense Woods
3
4
2
-1 Col
-1 Col
x.5


Bridge
+0
+0
+0
at x.5
+1 Col
-


Railroad
1
1
1
-
-
-


Ford
+3
+4
+1
at x.5
-
-


Position
+0
+1
+0
-1 Col
-1 Col
x.75


Explanations:

Eng means with the help of engineers units may cross hexside at the listed cost

-1 Col means shift one column to the left; +1 Col means shift one column to the right

-2 Col means shift two columns to the left; +2 Col means shift two columns to the right

att refers to the attacker; def refers to the defender

x.25 means to multiply the factor by 1/4

x.5 means to multiply the factor by 1/2

x.75 means multiply the factor by 3/4

Note A: only those units actually attacking across a river suffer the penalties

Note B: only those units actually attacking across the hexside (and uphill) suffer the penalties

Movement Capacity.

Unit type:
Movement:

Infantry
6

Engineers
6

Pontoons
6

Cavalry
10

Armor
14

Tanks
12

AT Artillery
6

AA Artillery
6

Armored Train
unlimited

Headquarters
6

These numbers may be modified by the TEC.

Artillery movement and Fire Capacity

Heavy Artillery
6

Medium Artillery
6

Light Artillery
4

Reduction Table

Factors:
.25
.50
.75

1
1
1
1

2
1
1
2

3
1
2
2

4
1
2
3

5
1
3
4

6
2
3
5

7
2
4
5

8
2
4
6

9
2
5
7

10
3
5
8

11
3
6
8

12
3
6
8

13
3
7
9

14
4
7
11

Example:  A 9 factor that is reduced by half is treated as a 5 factor
Demoralization Table



Unit effectiveness number:

4
4
5
6
7

Number of losses:
1
1+
2
2+
3

Result:
1-4 = NE

5-6 = R

7-10 = D
1-6 = R

7-10 = D
1=7 = R

8-10 = D
1-8 = R

9-10 = D
1-9 = R

10 = D

NE means No Effect

R means Retreat one additional hex

D means Demoralized

Air Reconnaissance Table

Die Roll:
Result:

1-2
Number of units and total Troop points present

3-4
Number of units, total Troop points, and types of units

5-6
Number of units, total Troop points, and show the reverse sides of 50% of the counters

7-8
Number of units, total Troop points, and show the reverse sides of all of the counters

9-10
Adverse atmospheric conditions prevent the mission; No effect

Ground Reconnaissance Table

Die Roll:
Information obtained:

1-2
The owning player reveals the fronts of all units in the hex, as well as their state of command, supply, morale, and disorganization.

3-5
The owning player reveals the fronts of 50% of the units in the hex, but conceals their state of command, supply, morale, and disorganization. The player conducting the recon chooses the units he wishes to see. (For determining 50%, see the rules for rounding)

6-7
The owning player reveals the fronts of all units in the hex, but conceals their state of command, supply, morale, and disorganization. 

On a roll of 8-10 the recon has failed, and the defending units may immediately counterattack. 

Bombardment Table



Number of bombardment points:

Die Roll:
1
2
3-4
5-7
8-10
11-16
17-22
23+

1
0
0
0
0
0
0
0
dsg/dmd

2
0
0
0
0
0
0
0
dsg/dmd

3
0
0
0
0
0
0
dsg/dmd
dsg/dmd

4
0
0
0
0
0
dsg/dmd
dsg/dmd
dsg/dmd

5
0
0
0
0
0
dsg/dmd
dsg/dmd
dsg/dmd

6
0
0
0
0
dsg/dmd
dsg/dmd
dsg/dmd
1dsg/dst

7
0
0
0
dsg/dmd
dsg/dmd
dsg/dmd
dsg/dmd
1dsg/dst

8
0
0
dsg/dmd
dsg/dmd
dsg/dmd
dsg/dmd
1dsg/dst
1dsg/dst

9
0
dsg
dsg/dmd
dsg/dmd
dsg/dmd
1dsg/dst
1dsg/dst
2dsg/dst

10
dsg
dsg
dsg/dmd
1dsg/dst
1dsg/dst
2dsg/dst
2dsg/dst
2dsg/dst

0 = no effect

dsg = Combat units disorganized

dmd = Damage to roads, railroads, and bridges

dst = Destruction of roads, railroads, and bridges

1 dsg = 1 point lost and disorganized

2 dsg = 2 points lost and disorganized

Two dmd results means destroyed for roads, railroads, and bridges.

Antiair Defense Table



AA Factors:

Die Roll:
1-2
3-4
5-6
7-8
9-10
11+

1
FB/CAS x .75
FB/CAS x .75
FB/CAS x .5
FB/CAS x .5
A
A

2
0
FB/CAS x .75
FB/CAS x .75
FB/CAS x .5
FB/CAS x .5
A

3
0
FB/CAS x .75
FB/CAS x .75
FB/CAS x .5
FB/CAS x .5
A

4
0
0
FB/CAS x .75
FB/CAS x .75
FB/CAS x .5
FB/CAS x .5

5
0
0
0
FB/CAS x .75
FB/CAS x .75
FB/CAS x .5

6
0
0
0
FB/CAS x .75
FB/CAS x .75
FB/CAS x .5

7
0
0
0
0
FB/CAS x .75
FB/CAS x .75

8
0
0
0
0
0
FB/CAS x .75

9
0
0
0
0
0
FB/CAS x .75

10
0
0
0
0
0
0

0 = No effect

FB/CAS x.75 = FB and Close Air Support is reduced to 75%

FB/CAS x.5 = FB and Close Air Support is reduced to 50%

A = Mission aborted

Armor Superiority Table

Ratio of AT points 

(Att to Def):
Modifier:

1-1
0 columns

2-1
1 column

3-1
1 column

4-1
2 columns

5-1
2 columns

6-1+
3 columns

Combat Results Table (CRT)



Ratio:

Die Roll:
1-3+
1-2
1-1
2-1
3-1
4-1
5-1
6-1
7-1
8-1+

1
A4
A3
NE
A2D1
A1D1
A1D1
D1
D1R1
D1R1
D1R2

2
A3
NE
NE
A1D1
A1D1
A1D2
D1R1
D1R1
D1R2
D2R1

3
NE
NE
A2D1
A1D1
A1D2
D1
D1R1
D1R2
D1R2
D2R1

4
NE
NE
A1D1
A1D2
D1
D1
D1R2
D1R2
D2R1
D2R2

5
NE
NE
A1D1
D1
D1
D1R1
D1R2
D2R1
D1R1
D2R2

6
A2D1
A2D1
A1D1
D1R1
D1R1
D1R1
D1R2
D2R1
D2R2
D3R2

7
A2D1
A2D1
D1
D1R1
D1R1
D1R2
D2R1
D2R2
D2R2
D3R2

8
A2D1
A2D1
D1
D1R1
D1R2
D1R2
D2R1
D2R2
D2R2
D4R2

9
A2D1
A1D1
D1R1
D1R2
D1R2
D2R1
D2R2
D3R2
D3R2
D4R2

10
A1D1
A1D1
D1R1
D1R2
D2R1
D2R2
D3R2
D4R2
D4R2
D4R2

A4 = Attacker losses 4 Troop points

A3 = Attacker losses 3 Troop points

NE = No effect

A1D1 = Attacker and defender each lose 1 Troop point

D2R1 = Defender losses 2 Troop points and must retreat 1 hex

D3R2 = Defender losses 3 Troop points and must retreat 2 hexes

etc.

Effectiveness Difference Table

Difference in effectiveness numbers:

Die:
1
2
3
4
5
6

1
1
2
3
4
5
6

2
1
2
3
4
5
6

3
1
2
3
4
5
6

4
1
2
3
4
5
6

5
1
2
3
4
5
6

6
1
1
2
3
4
5

7
1
1
2
3
4
5

8
1
1
2
3
4
5

9
0
1
2
3
4
5

10
0
1
2
3
4
5

Result is the modifier (positive or negative) to the CRT die roll.

Random Loss Assignment Table

Units with losses:

Number of units in the hex:
1st 

unit
2nd 

unit
3rd 

unit
4th 

unit
5th 

unit
6th 

unit
7th 

unit
8th 

unit
9th 

unit
10th 

unit
Any 

unit

1
1-10











2
1-5
6-10










3
1-3
4-6
7-9







10

4
1-2
3-4
5-6
7-8






9-10

5
1-2
3-4
5-6
7-8
9-10







6
1
2
3-4
5-6
7-8
9-10






7
1
2
3-4
5-6
7-8
9
10





8
1
2
3
4-5
6-7
8
9
10




9
1
2
3
4
5-6
7
8
9
10



10
1
2
3
4
5
6
7
8
9
10


Victory Determination Table

Total Victory
if
51% or more VP's

Limited Victory
if
21 to 50% more VP's

Draw
if
Equal to 20% more VP's

NOTE:  This is used for all scenarios.

